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1 3mm 1,200M Tnf ~ 20nf 70M 40m
2 0mn 3,600M 21 ~ 6 0ni 130M 100/
2 5mm 6,800 61 ~ 100 180M 150/
30mn 10,800M 101w ~ 200nf 220M 200M
4 0mn 19,400M —#1,200M 201 Bl F 250M 230M
5 Omm 36,600M
7 5mm 74,800MH
10 0mn 128,000M
150mm 294, 000M
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ERpE (Fitk) A—AZ—OfF 13m 1,200 | A—&Z—0O#F 13m 200M
HENE (Fitk)
1 ~ 20nt 20n x 700 = 1,400M 20 x 408 = 800M
21ni ~ 6 0ni 40ni x 130M = 5,200 40 x 100M = 4,000M
81m ~ 100w | 27w x 180M = 37808 | 21u x 150M = 31507
8 1m EREE 0,380M 8 1m EEREE 7,950M
& H Bk 1,580M 9,150M
iﬁ%%ﬁ%%%%iﬁ 11,580Mx 1.05= 2,159/ 9,150Mx 1.05= 9.607M
iﬁ%%&%%%%#g 11,580Mx 1.08= 2,506/ 9,150Mx 1.08= 9,.882M
OfAMKEBOEER [2HA. Filk. 2 0F0DIHEE]
E A H £ "t 2 M & TmépfiyY
A—H—0OF ok & T Kk & K 2 #@ B £+ ok & T Kk &
1 3mm 1,200Mx20F| 1,200Mx20F 1M ~ 400mn 70mM 40/
O 1 3mMOEABEXFHICLYSHELET, 401m ~1,200nd 130M 100M
((1EH] 20FDBE 1,201nf ~2,000nf 180M 150M
1,200M X20F = 24,000M 2,001 ~4,000nt 220M 200M
4,001 Bt 250M 230M
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